
Calculus

Full Chapter Revision
Circle

Plane Geometry
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& Central form of 21. of Coice.

Centre ((h,k

1 Radius on the

ec. is Circle is (x - n)" + (y- (x)
=
=r

A standard form of es. of Cicle
Centre (0,0) Radius r.



et of Circle is

2
x
+

y =m

* General form of 22 of Cich is

x
+

y + 2gx + 2ty +
c
=0

Centre (-g.-f)
Radius g" + f-c



& Diameter form of ex of Cich

(x - x)(x -xx)+ (y - y)(y -yz)=0 x,,y)

whose (x.,3.) a (U2, 32) are

end points of diameter of

circle (x2,Yz)

B Intercept form of Crich

el. of Circle Passing through origin and
making intercep a and bon axis is



x
+

y- - ax - by =0

⑦ Parametrices of Cich

x =n + rCos O

I are paramite
in

y = K+ r sinc
(x -n)z+ (y -k)==r

* Eg. of Circle passing through
intersection of circles

5-x + y- + 2gx + 2fy + c=0 -b
S'=u- + y + 2gx + 27'y + c=0 -



is S + ks' =0 k1

If k= - 1 S- s'=0

2(g - g))x + 2(7 - 7)y + 4 - z =0

which is the straight line passing
through point of intersection of Commonword
Circles O &@

i.e. Common chord of
-

circles.



Bel of Circe passing through
intersection of Circle

s = x+ y + 2qx + 2fy
+ c = 0

and a line L= lx + my +
n =0 is

S+ kL =0

pec. of any circle through the

intersection of Circle s=0 R

S'=0 is



S+ k(S - s) =0

⑧es. of Tangent to Circle at (x,,3,

s =xx + yy, + g(x +m)+f(y +y) + c =0

& ex of Normal at (x,y) of Cicer

x
+

y= a- is

xy, -xy =0



& Conditionof Tangency
line lx+mytn = 0 is tangent
to x

+

y= a-if
ad(e + m() =n3

Point of Contact (e-ana



A Line Y: Mx+ c is tangent to
circle x"+y" = a"if
c
=ad(1+ m2)

Point of Contact (mm)



shoes of Contact
-

es. of shod of Contact of tangents
drawn from (x,,31) is

xx +yy,+g(x + x) + f(y
+y,) + c=0

same
as

& e2. of Polar of (x,131) is
Tangent

xx + yy, + g(x + x,) + f(y + y)+c=0



A Pole of line (x-myth = 0 w.nt

x
+

y=a-
is

-ve-tanis

& Orthogonal Cides: Two Circle are

said to intersect

Orthogonally if angle between them

is right angle



& Angle of interdection of two

Circles.

Cosp= r+ri-d"

2r,52

ri, re are radii of Circles &

d is distance between Centres

* Condition of Orthogonality.
ri, is are radii of Coicse

d is distance between centres



r+r
=d

Condition of Orthogonality of Circes.

x
+y + 2g + 2f,y + c1

=0

x + y- + 2gx + 2fzy
+ z =0 is

2 g.gz + 27,2=6+

Length of tangent from exterior point P(u,y,) is
x+ y," + 2gM +2fY,x


